0820/403

QUALIFIGATIONS  1.00 PM ~'2.45 M. ECONOMICS

2007 STANDARD GRADE
Credit Level

1 Read each question carefully.
2 Attempt all the questions.
3 All answers are to be written in the answer book provided.

SA 0820/403 6/970

~/
SCOTTISH>&

QUALIFICATIONS

AUTHORITY
©



1. Study the article below and answer the questions which follow.

“Modernise or fail”’, says the Prime Minister

Last night, the Prime Minister warned Trade Union Leaders to modernise
or face further decline. At a meeting with Trade Union Leaders, the Prime
Minister spoke of his concerns over industrial action and its effect on
unemployment and trade. He particularly stressed his concern over
industrial action in the public sector and his fear that this might restrict
growth in the private sector.

a 1 Suggest and explain 2 examples of industrial action.
gg p p
11 Suggest reasons why the Prime Minister might have “concerns over
gg y g
industrial action and its effect on unemployment and trade”.
b)) @) Explain the terms “public sector” and “private sector”.

(i)  Suggest reasons why “industrial action in the public sector might
restrict growth in the private sector”.
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2. Study the following diagrams and answer the questions which follow. KU| ES
Diagram 1 Diagram 2
Market for Stadium Tickets Market for Domestic Flights in
the UK - 2006
S
Price D Price D S
£25 £70
D S D
40,000 10
Quantity Quantity of
of Tickets Domestic
(per event) Flights (millions
per year)

Use Diagram 1 for the following questions.

(a) (1) Explain why the stadium ticket supply curve is vertical. 2

(11)  What problems might arise in the short term for a firm with a
vertical supply curve? 2

Use Diagram 2 for the following questions.

(b) Explain the possible effects of each of the following on the market for
Domestic Flights in the UK:
(1) increased taxation on fuel;
(i1) falling UK unemployment;

(i11) falling UK interest rates.

[Turn over
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3. Study the information below and answer the questions which follow.

Higher oil and transport prices
pushed the annual rate of
inflation above the Bank of
England’s target measure to a
record 2-4% last month.
despite this, the
underlying rate of inflation
fell.

However,

Retail price inflation, on which
many wage settlements are
based, fell to 2:8% last month
as compared to 2:-9% the
previous month.

Extract from the Chancellor’s
Speech.
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Fuel Tax Revenue — 2003-2007
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of retail price inflation.
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2007.

(i)
(d)

Explain your answers to (b)(i).

2004 2005

Year

2006

Explain the term, “annual rate of inflation”.

Suggest 2 reasons for the trend described in (¢)(i).

2007

Suggest reasons why many wage settlements are based on the level

Suggest one group within an economy which might benefit and
one group which might suffer from increasing levels of inflation.

Describe fully the trend in Fuel Tax Revenue between 2003 and

The Government wishes to raise revenue without raising indirect

taxation. Describe and explain 2 actions the government might take to

achieve this.
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4. Study the table below and answer the questions which follow.

Costs of Production

Bottle of Wine | CD Recorder

UK 20 Euros 150 Euros

Germany 10 Euros 100 Euros

(a) (1) Calculate the opportunity cost of producing one CD recorder in
terms of Bottles of Wine in:

(A) UK;

(B) Germany.

(i1)  Which country should specialise in the production of CD
recorders?

(i11)  Justify your answer to (a)(ii).

(b) (1) Apart from lower prices, suggest 2 benefits consumers gain from
international trade.

(i1) Give 2 economic reasons why a country might continue to produce
a product which it could buy more cheaply from abroad.

(¢) Explain how a fall in the value of the £ Sterling against other currencies
might affect the Current Account of the UK Balance of Payments.

[Turn over
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5. Study the picture below and answer the questions which follow.

WYLIES FISH
& CHIP VAN

“ _ ARACNIAHIG

-—

H SCHOOL 2

X

PUBLIC CAR Z ]

PARK ONLY
£2 PER HOUR

(a) From the picture, identify:
(1) a public good;
(i1) a merit good;

(111) a private good.
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(b)) Health care in the UK is provided by both the private and the public
sectors. Describe an advantage to consumers when health care is provided

by:
(1) the private sector;

(i1) the public sector.

(¢) UK Governments continue to face a problem of rising levels of transfer

payments.

(1) Explain the term “transfer payments”.

(i1) Suggest and explain 2 actions the Government might take to

overcome this problem other than by increasing taxation.
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6. Study the table below and answer the questions which follow.

Ceeyou Lamps plc is a multinational based in the UK and competing in
a global market.

CEEYOU LAMPS PLC

YEAR OUTPUT PER MONTH | LONG RUN AVERAGE TOTAL

COST PER LAMP

2003 12,000 £15
2005 16,000 £10
2007 30,000 £12
(a) (1) Explain the terms “multinational” and “plc”.

()

(o)

(d)

(11) Give one advantage and one disadvantage of multinationals to
consumers.

Describe and explain the changes in Average T'otal Cost between 2005 and
2007.

Ceeyou Lamps plc has received an urgent order for 40,000 lamps this
month.

(1) What problem might this cause Ceeyou Lamps plc?

(i1) What actions might Ceeyou Lamps plc take to overcome this

difficulty and meet the order?

Brite-lights Ltd, a rival company to Ceeyou Lamps plc, has been accused
of causing social costs to the economy where it operates. Suggest possible
social costs of industry.

[END OF QUESTION PAPER]
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